50'

40

o oy ) . ~
o & X 8 % @ &
o o
$ 0
~
©
-
b2
=
~ =
-~ . a
3 g
N~ = N ) =
\ S -—-—-—--—-—-—-—-W.—-—-—---.-—-—-—-_-—-—-—-—----—--
-
—
ge)
@
(3]
Q
0]
—
= B
9, S
-
O
o
®

30'

\

b m e et w

5'spall M
I
LSsmHM

JT 66

= = R @ S =

CELL7
0-50ft

P U RS U Py g p—_—

20'

20'

10'

1137+15

IS I N -

e e e e e e g e ot e e

JT 65

PCC Patch
L

1137+10
Diiving:Lane:

=Passing Lane

&

10'

] bh MR SP:J\

g L ¥ Yoms.

b
J

4/s fio

7RC




0§ 0F 0€ 02 0l 0

1 n aueT Buissed
1 1
zL . H ZL
I I
I f
. .
o I
8 e x: I 8
wﬁw | n ]
. A) I 1 "
\\ ’ : 2
—
L] |
. »
I |
¥ i ; g
| I
I ‘Vx\v» l
]
Hlleds g \\ &g
, ]
10 . g~ 0| s 10
I I
. : .
I |
u .
i I I i
2_ I
L .u
[ T
I |
L] L]
8 | I 8
f .
1 |
ﬁ/ n
Tleds g i .
I |
s n zl
|
zh _ 2
_ _ aueT Bulaug
05 oF . 08 0z oL 0
69 L1 . 89 1
0L+8ELL . 09+LELL

3 001 - 08
L7130



CELL 7
100 - 150 ft

1138+60

1138+10

JT 72

JT71

JT 70

50'

40

30

20'

10

R i i i i i ~
o © < O < © —
=)
wn
‘\
NS
- ;
p= b
I e e L Dl skt el el BT e Tl el ol
=)
<
=)
(2]
[N I SN I — S S i e ] e L R
=
o.
o
=)
-
—
©
Q
%)
- ™~ =
R R e e L F R SRR R Rl B~y b et malid
NN
p 2
S S
O
2 £
g 2
= o
[a] oo

12'

g
4

CL

g

12'



CELL 7
150 - 200 ft

(=] o
63 wn
T
(<))
«
o
b
o
<
<
~
i
5
o
(s
[=)
«
2
~
=
bar §
=]
-
o
©
+
]
58]
< B
— o

50'

40'

30'

20

10'

0

12'

N = - = - 5 o~
- © < (@] < © —
g 2
~
)
b m e n o @ W = E— o o @ o W .—-T @ e ow L
e e s Ll SN S S, L o= =
0 2
5 S
)
2 £
= a
= ©
=) o
© - = E w
%) <+

12'



CELL7
200 - 250 ft,

1139+10

JT77

JT 76

JT 75

= 5 _
s o X ) ¥ ) o
=) T o
wn wn
-
g
AVE N
©
Q
w1 |
o ™
- -—--—-7-—-—- N L E T o Rl R P Y )
y 4
y
) o
< <
o )
(3] (3]
‘<
s
3
=
{ T
¥y E
d o
[N [0}
= ™
.—-—-n—-—-—-—-/a!ﬁ‘v-—-— EeEmErEsEES s e fEs LS EEE R Es EE B
L 1
=) =)
o~ o~
=) )
2 =
[ S NN -~ O U A AU N - M S W I
o &
r‘:—] @
4 r
2 £
= 2
, £ ol
o [a] oo

12

g

CL
4

12'



.05 0 " .08 : 02 oL 0

" [ P aue] buissed
5 _
b o H Zh
|
Q@ !
(VY. i
¥ - B
Q |
A~ [
8 b [ 8
a
H
m !
I
: 7
T _
7 J o 3
|
) .
A |
(‘ L ]
nv |
L]
1 " <
10 4 . 10
I 1 .
] L}
I |
s .
o I _ #
I I
s '
l I
1 I |
n ]
: thd M :
n a
| I
} I
s .
I I
t45 . = 4%
I |
s "
1 _ aueT Buaug
0§ loi4 ,0€ , 02 0L 0
610 ) 8L 1l
0L+0¥LL ’ . 09+6€LL

3 00¢ - 052
L7130



CELL7

300 - 350 ft

1140+60

1140+10

JT 82

JT 81

JT 80

o o, * o ¥ ® ol
S 3
—
©
o
w—
_ o™
.'—.-—-—.-—_-J—.L.-—-—.—-—-— e T L L T e S R d
g =
= 8
S ;
S 8
= =]
e
R":‘
S,
®
Q.
R \ , -
- e ek e 1 00 0-0-0-0-00 0 Q-0 O
® 2
g 5
S a
5 |6 oo

12'

g

4

CL

4
8

12!



CELL 7

350 - 400 ft

1141+10

1140+60

JT 84

JT 83

] - - — - . ]
o © <+ O < © —
o o
[ro) 0
5 o
< <
x
©
Q.
(]
— - o~
R R -—'-—-—-—----—-—-—-—-—-—-—W--—--—-
o o
© ©®
o =)
3 I3
\5/
\g\
o)
e T S o e e R R R S R R R R R
NS =
o o
- -~
© 2
S 8
2 2
E 2
- = @|_
o o oo

12’

g

4

CL
4

g

12



1141+60

4

CL

4

12'

50'

CELL 7
400 - 450 ft

1141+10

JT 87

JT 86

JT 85

40'

30'

R S ———

| 2 spallL-

20'

é 2' spall)é,,l

o
[re)
b=
o
<
o
©
p————
o
«
=)
S
p————
o
=4
©
|
o
25
=
_ ]
o [a]

Passing Lane

10'

12

CL

4

12



CELL7
450 - 500 ft

1142410

1141+60

JT 89

JT 88

50'

40'

30'

20'

10'

12

g

4

CL
4

12'

o
n
=)
<
—
©
a
%)
3 et i o
e L R e R -—-----Z—-—-—-_-_-—-—\Ni.--—--—-
1
o
o
fe)
N
y
5 =
-l e
N
= ~
o -
oy 9
N .
el R EE e Na Tkt Bl Rl B e el o e e Rl TA Lt
= =l
o
(]
(0] =
= ©
@ ==
- O
o =
£ =
> 1]
2 @ |_
o [2) (=)

12

g

4

CL

12



CELL7
500 - 550 ft

Transition

Cell 7

1142+60

1142+10

JT 92

JT 91

JT 90

50'

40'

30'

20'

10

o'

, r .
o [$) - w© o
<> —
-—-—W--—-—- mEm EEm e Em e e R R R el sl
e
~
£
<Y
1))
pe——— [ R T —— T~ S
s'w
Rt
[}
2 &
S S
(o))
g 2
Z a
&) o
N & s £ ™

50'

40'

30'

20'

10



05 0 0€ .02 0l 0
aue buissed

4% 43

1 e

143

aueT bualg

08 Jle)4 0¢ 0C 0l 0
€6 1r

09+2yLL

3 009 - 069
VAR E )



